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QUESTION 1

A client\\'s data has information from several source systems combined into a single input file. The data needs to be
matched within source system and all data must be retained. There is a field present in the data which identifies the
source system.

Which approach would best accomplish this task?

A. Pass all the data into a Match One-source stage blocking on the Source System field.

B. Pass all the data into a Remove Duplicates stage and process the remaining data into an One- source match
blocking on the Source System field.

C. Separate the data by source system using a Filter stage, pass each sources system\\'s data through an One-source
match and match on the Source System field.

D. Sort the data by source system, pass the data through a Remove Duplicates stage and pass the data to a Two-
source match stage blocking on the Source System field.

Correct Answer: A

QUESTION 2

How does QualityStage output the correct ISO code for a record?
A. ISO code functionality is not available.

B. ISO code supplied by the Country rule set.

C. ISO code supplied by the USPREP rule set.

D. ISO code supplied by the US Address rule set.

Correct Answer: C

QUESTION 3

When building a field level survivorship routine and the same business rule applies to all address columns, what is the
most efficient way to do this?

A. Move all of the address columns to the target field and define a single rule.

B. You must use the complex survive expression identifying each address field.

C. Because logic is being applied at the field level all fields need to have a rule defined.

D. Apply the survivorship rule directly to the available columns and not to the target column.

Correct Answer: B




QUESTION 4

Which threshold is used to identify input data Strings are probably the same?
A. 100

B. 800

C. 900

D. 1000

Correct Answer: A

QUESTION 5

When a single file match is required where all records must be processed through every pass, what match type is
required?

A. One-source Dependent
B. One-source All-Passes
C. One-source Independent
D. Two-source Many-to-one

Correct Answer: B

QUESTION 6

Which statement is true?

A. Complex Boolean survivorship rules are permitted.

B. The first defined survivorship rule takes precedence.

C. Complex fuzzy matching survivorship rules are permitted.

D. Blank fields are automatically dropped from survivorship consideration.

Correct Answer: B

QUESTION 7

Given the following input:



Record Name Color

1 Barbara Green
s Barbara

3 Barbara Red

4 Barbara

5 Barbara Green

Which two override options would ensure that records 1. 2, 4, and 5 would be in the same match set?
A. Agreement weight

B. Both missing weight

C. Data missing weight

D. Disagreement weight

E. Reference missing weight

Correct Answer: CD

QUESTION 8

When reviewing the results of a Match job you notice that some records are not included in a match group.
Which option would you review to determine why the records are not matching?

A. Change the Match cut-off to-100.

B. Change the Survive rule to include Residual records.

C. Check the records for missing data values in the block fields.

D. Change the match from Two-source many-to-many to Two-source one-to-many.

Correct Answer: A

QUESTION 9

You added a new field to matching fields of an existing match specification and provisioned all match specification
components. Then you ran the job but it failed immediately. The input data size is 2G bytes and the job worked without
any issues before you modified.

What is most likely the cause of the problem?

A. Lack of physical memory.

B. Lack of scratch disk space.



C. The job needs to be re-compiled.
D. The frequency file needs to be re-generated.

Correct Answer: A

QUESTION 10

When considering address certification versus address validation, which statement is true?
A. The USAC module will fully parse as well as certify addresses.

B. Both USAC and AVI modules will correct addresses when possible.

C. Validation and certification are interchangeable terms. They each mean the same thing with regards to address
processing.

D. QualityStage address certification modules will only mark a record as certified. The AVI module must be used to
validate and correct addresses.

Correct Answer: D

QUESTION 11

You need to create a batch delta match process for transaction records against a very large master file of existing
clients.

Which QualityStage match option should be used?
A. Transitive One-source match

B. Two-source many-to-one match

C. Deterministic One-source match

D. Two-source many-to-many match

Correct Answer: A

QUESTION 12

What rule file parses data to the output file?
A. PAT

B. CLS

C.DCT

D. PRS



Correct Answer: D
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